i ZSHORF (R4, 3. 31 BELE) GHBBUASHE WA M)

&#TK%%%%%(WKB’J)
oA B H T R OBl #H N R AT X X B T A OB 3 A AT X
1 F /K& fE K 166,850 171,209 102.6 |1 & i % 9,565 7,635 79.8
2 R KA ER A 4 3,827 3,827 100.0 |2 4 H ¥ K 98,493 92,328 93.7
3 Z 0w ¥ A 2 158 7,900.0 [3  #& & # 53,371 50,166 94.0
4 fth = F M B & 156,181 155,799 99.8 14 % D fit 363,784 354,907 97.6
5 fifi B & 10,292 10,292 100.0 (5 3 # F B 24,172 23,974 99.2
6 % D fth 227,897 221,423 97.2 6 * » fit 12,001 4,678 39.0
SN i 565,049 562,708 99.6 X GaE 561,386 533,688 95.1

N FETF KEEE = EH (BEN
oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 ¥ f& 3,000 3,000 100.0 |1 B EFR K B & 4,321 4,321 100.0
2 TR HEAMHSE 1 0 0.0 |2 ALk B & 0 0 #DIV/0!
3 RWEHHE 1 550 3 AIIEE & PEE AT 250 0 0.0
4 H % & 34,391 34,391 100.0 |4 1 ¥ & H & & 168,832 168,832 100.0
SN 37,393 37,941 101.5 X WA E 173,403 173,153 99.9

BT 1,034,455 (N3 504,476 455R529,979)




B EKE K K F E = i (IR
oA B H T R OBl #H N R AT X BN E T A OB X AT X
1 F K& fEH B 35,990 36,691 101.9 (1 % i # 7,362 5,566 75.6
2 O E A 1 11 1,100.0 [2 v H ¥ & 23,437 22,051 94.1
3 o= B A B & 76,332 59,693 78.2 (3 # 3 # 6,080 4,143 68.1
4 4f Bl & 292 0 004 = 75) fit 121,720 120,193 98.7
5 % » fits 80,204 79,301 98915 X #H F B 16,618 16,518 99.4
6 = D fit 2,101 12 0.6
[ N 192,819 175,696 91.1 XA E 177,318 168,483 95.0
B EE K K F X = B (BXH)
oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 ¥ f& 22,000 22,000 100.0 1 & B R & B & 45,045 45,045 100.0
2 W HEHHEE 1 2,750 | 275,000.0 (2 ALEE AR ER A B2 891 792 88.9
3 W “ 4> 15,434 15,434 100.0 |3 1 ¥ & H & & 58,610 58,610 100.0
4 i ) & 22,000 22,000 100.0
SN 59,435 62,184 104.6 X WA E 104,546 104,447 99.9
EEDI LR 813,537




K E F E = (R

A ® H T R OBl #H A % BOAT B X B A T A OB 3 A BoAT F
1 # K I % 315,349 321,619 102011 B #H ok & 56,918 55,419 97.4
2 % 5t T UL 4% 2,934 2,898 98.8 (2 E Kk B 35,564 32,353 91.0
3 TRk AFAMRS 1,434 1,889 131.7(3 % # T H= # 2,590 2,442 94.3
4 = I F B 80 67 83.8 [4 # £ # 28,667 23,228 81.0
5 fl = 3 M B & 13,831 13,314 96.3 15 X Al B 21,475 20,462 95.3
6 % D fth 64,771 65,929 101.8 [6 * » fit 177,498 171,357 96.5

NI 398,399 405,716 101.8 X GaE 322,712 305,261 94.6

K B F % it (BEAH)

oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 ES & 404,200 404,200 100.0 (1 54 oK it 7% o B 2 689,123 689,036 100.0
2 H “ 4> 145,200 145,200 100.0 |2 DERACHE K a3 i 2 B 24,734 22,863 92.4
3 4 # 4 506 1,229 242.9 |3 i 5 KB i s B i 0 0 #DIV/0!
4 M OB & 96,841 96,841 100.0 |4 = 2% % H % 460 80 17.4
5 B i B & 0 0 #DIV/0!|5 1 ¥ & E & & 164,654 164,653 100.0
6 — k= EHA B & 23,738 23,738 100.0
7 A # 4 0 0 #DIV/0!

SN 670,485 671,208 100.1 XA G 878,971 876,632 99.7
MBI 1,371,418
£ 4 M SR BERL4A 208,731 FIAEFEN4A 6,398 JMEFE4A 62,146




